Chapter15HW

Answer Section
SHORT ANSWER

1.
ANS:


The government can create a monopoly by giving a single firm the exclusive right to produce some good. Monopolies are created for many reasons.  When an industry is characterized by high fixed costs, a single firm can usually supply the entire market at a lower cost than having multiple firms in the industry. Examples include most utility companies. The government also grants sole ownership of inventions through patent laws in order to help eliminate the market failure that is likely to otherwise occur in the markets for those goods.  Patents encourage creativity and research and development.


2.
ANS:


A profit-maximizing monopolist produces the output level where marginal revenue equals marginal cost and charges the corresponding price from the market demand curve.  Note that a monopolist charges a price that exceeds marginal cost, unlike a competitive firm, for which price equals marginal cost. OR DO THE GRAPH

3.
ANS:


1/2*(110-100)*($10-$5) = $25 OR DO THE GRAPH

4.
ANS:


The answer should address the three basic lessons of price discrimination. First, price discrimination is a rational strategy that can lead to higher monopoly profits. Second, price discrimination requires an ability to separate customers according to their willingness to pay. Third, price discrimination can raise economic welfare.
